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Question 19
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主要错误：
1、 大多数同学能正确求解此题。（Most students can solve this problem correctly.）

Answer:
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Question 20
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主要错误：
1、 大多数同学能正确求解此题。（Most students can solve this problem correctly.）
2、 （c）：部分同学的答案没有把负号移到根号外（(c) ：A few students did not move the “-” out of the square sign.）

Answer:
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Question 21
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主要错误：
1、 大多数同学能正确求解此题。（Most students can solve this problem correctly.）

Answer:
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Question 23
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主要错误：
1、 （b）、（d）：部分同学不懂如何证明为何极限不存在（(b) 、（d）：A few students do not know how to prove why the limit does not exist.）

Answer:
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Question 25
[image: ]

主要错误：
1、 少数同学直接没有解答此题，其他解答了的同学几乎都能正确求解。（Some students didn't answer this question.）

Answer:
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21.

Evaluate the following limits and justify each step.
(a) lim(32* — 22° + 2 — 3)
T2

(b) lirgz(.r3 +3) (2% + 4w + 1)
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21.  (a) 3l
(b) 15
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23.  Compute the following limits, or explain why they do not exist.

Cort43r+2 2t +3r+1
@ zl—l»n—ll r+1 (b) xlin—ll z+1
222 _ 5 — JE

(c) lim Bt (d) lim vhe=6

73 12 — 21 —3 -2 32—4
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23. (a)l
(b) Does not exist.
(c) 7/4
(d) Does not exist.
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25. (a)lfa? —52+8< f(z) < 22° — 11z + 17, find lin%f(z).
s

(b)If 2% + 20+ 2 < f(v) < 22% + 42 + 3, find lim_f(2).

z——1
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25.  (a) Worked Solution: Let us define functions p and ¢ by p(z) = 2> — 5z + 8 and
g(x) = 22* — 11z + 17. Then the question tells us that p(z) < f(z) < ¢(z). Since
p and ¢ are polynomials, direct substitution shows that lim, 3 p(z) = p(3) = 2 and
lim, 3 g(z) = ¢(3) = 2. So the squeeze theorem tells us that lim, 3 f(z) = 2.
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19. Determine the infinite limit.

(a) lim tanz (b) lim tanz  (c) lim Ite

z7/2- zm/2t 23t —3
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19. (a) lim tanz =oo (b) lim tanz = —oco (c) lim ak
a2 a2t 23+ T —

=00
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20. Given that lim,,; f(z) = 2, lim,,; g(z) = 0 and lim,_,, h(z) = —3, find the limits
that exist. Justify each step. If a limit does not exist, explain why.

(a) lim[3/(2) + 29(z)
(b) lim[ /()]

() lim /A7)
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20. (a)6
(b) 16
(c) =3




